MODEL # RCK-CDR22
ASSEMBLY INSTRUCTIONS

same instructions for CDR22S & CDR22L

www.taqgfitness.net

630-375-1500



PARTS LIST

>
F o © o o
ol @ | -~ | ¥ | 5| & ¥
o)
© I
i
© A e}
— =) S
[ e (=) * S [} Al
o | Z || 2 ~ | & | ¢
...“ (o] (a0} (7)) ®© ~— - M—.
S o ~ © = s o 8
2 | G| & | 2% |z| |2
Q T | G | = Z | T
= © Q.
«© =
T <
o
O|l g lo| || o< |w
Z ~— — ~— ~— ~— ~—
>
2 o o o
S o\ o < < < = © ©
o
N
N «©
o 5| 9| &
[e0] [e2] o
) |\ o o N L 1) v
c £ N S | ~ | © M X M
o © < < < 3 @© Q @
=] —

e | L | Q|| |2 =2|3|=2
= — [aY] © Ye] — = — =
[T} e o) ~— ~— o (@] d o
7] Ko » » © m m o0
] 5 S ] ] L > %
(a] 2 © | 5| 5 = @ > o
) g © © o) (0]

I ° ° T T
& & o] I
» o)
7] w w =]
o o
(@]
m — N %) < Te) © ~ ©

Exploded Drawing




Assembly

Step 1

to Upright Frame (1) using Hex Bolt M12*30(7), Flat

)

2
and Nut M12

*37%4(

Install Cross Frame 2234*228

13).

(

(10)

2.5

*

Washer ®13.5*®24

using Hex Bolt M12*30(7), Flat

)

(1

to Upright Frame

228*37*4(2)

)

Install Cross Frame 2234*

13).

and Nut M12 (

10

(

Washer ®13.5*®24*2.5




